

$$a) A \sim A$$

$$A = \begin{pmatrix} I \\ I \\ I \end{pmatrix}^{-1} \cdot A \cdot I_3$$

$$b) A \sim B \Rightarrow B \sim A$$

$$B = P^{-1} A P, \quad P \text{ invertierbar.}$$

$$Q = P^{-1}, \quad Q^{-1} = P, \quad BQ = QA \quad | \cdot Q^{-1}$$

$$B = QAQ^{-1} \quad | \cdot Q \quad A = Q^{-1} B Q$$

$$A \approx B, B \approx C \implies A \approx C$$

$$B = P^{-1} A P, C = Q^{-1} B Q$$

$P, Q$  n.s.

$$(PQ)^{-1} = Q^{-1} P^{-1}$$

$$C = (Q^{-1} P^{-1}) A (P Q) = R^{-1} A R \quad R = PQ$$

$$= R^{-1} A R, R \text{ n.s.}$$

$$(i) \Rightarrow (ii) \quad \exists \varphi: V \rightarrow V$$

$$A = (\varphi)_\alpha, \quad B = (\varphi)_\beta$$

$$B = P_{\beta\alpha} (\varphi)_\alpha P_{\alpha\beta} = P_{\beta\alpha}^{-1} A P_{\alpha\beta} \quad P_{\alpha\beta}^{-1} = P_{\beta\alpha}$$

$$= (P_{\alpha\beta})^{-1} A P_{\alpha\beta} \Rightarrow A \equiv B$$

$$(ii) \Rightarrow (i) \quad A \equiv B \stackrel{2}{\Rightarrow} \exists \varphi: V \rightarrow V$$

$$A = (\varphi)_\alpha, \quad B = (\varphi)_\beta$$

$$B = P^{-1} A P, \quad P \text{ no g. matrice}$$

$$(\varphi(\#))_{\alpha} = A(\#)_{\alpha}, \quad \alpha \text{ baze } \forall$$

$$(\varphi)_{\alpha} = A \quad B? \quad P = \underset{\alpha B}{I}$$

$$B = P^{-1} (\varphi)_{\alpha} P \stackrel{(\varphi)_{\alpha}}{=} P_{\alpha B} \alpha P_{\alpha B} = B$$

$$\stackrel{P_{\alpha B}}{=} P_{\alpha B} (\varphi)_{\alpha} P_{\alpha B}$$

$$B = \alpha \cdot P$$

$$A = (a_{ij}), \quad B = (b_{kl})$$

$$C = A \cdot B = (c_{il}) \quad 1 \leq i, l \leq m$$

$$D = B \cdot A = (d_{kj}) \quad 1 \leq k, j \leq m$$

$$h(C) = \sum_{i=1}^3 \sum_{l=1}^3 c_{ii} = \sum_{i=1}^3 \left( \sum_{j=1}^3 a_{ij} b_{ji} \right)$$

$$h(C) = \sum_{j=1}^3 \sum_{i=1}^3 a_{jj} = \sum_{j=1}^3 \left( \sum_{i=1}^3 b_{ji} \cdot a_{ij} \right)$$

$$\begin{aligned}
 A &= B, \quad A = P^{-1} B P \\
 |A| &= |P^{-1} \cdot B \cdot P| = \text{Pog.} \\
 &= |P^{-1} \cdot B \cdot P| = |P \cdot P^{-1}| \cdot |B| \\
 &= \underbrace{|P \cdot P^{-1}|}_{=1} \cdot |B| = 1 \cdot |B| = |B|
 \end{aligned}$$

$$\begin{aligned}
 h(A) &= h(\underline{P^{-1} B P}) = h(\underbrace{P P^{-1}}_I B) \\
 &= h(B)
 \end{aligned}$$

$$B = P^{-1} A \cdot P$$

$$B w = \lambda w, \quad w \neq 0$$

$$\lambda w = P^{-1} A \underbrace{P w}_{w \neq 0}$$

$$P \lambda w = A w$$

$$\lambda w = A w$$

$IP$

(i)  $\Rightarrow$  (ii)  $\varphi$  is diag.  $\stackrel{?}{\Rightarrow} \exists$  basis

$$\alpha = (\underbrace{v_1, \dots, v_n}_{\text{basis}}, \forall v_i \text{ is basis!})$$

$$(ii) \alpha = \begin{pmatrix} \lambda_1 & & & 0 \\ & \ddots & & \\ & & 0 & \\ & & & \ddots \\ & & & & \lambda_n \end{pmatrix}$$

$$(\varphi(v_i))_{\alpha} = \lambda_i (v_i)_{\alpha} = (\lambda_i v_i)_{\alpha}$$

( $\forall \alpha$  basis  $\Rightarrow$ )

$$\varphi(v_i) = \lambda_i v_i$$



(ii)  $\Rightarrow$  (iii)  $\alpha = \langle v_1, \dots, v_n \rangle$ ,  
 $\forall v_i, v_j$  orthogonal.

$$x = \sum_{i=1}^3 c_i v_i \quad [v_1] \oplus \dots \oplus [v_3]$$

$$0 = [v_j] \cap ([v_1] \oplus \dots \oplus [v_n])$$

$$x = \sum_{j \neq i} c_j v_j = \sum_{j=1}^3 c_j v_j$$

$x \neq 0$   $\Rightarrow$   $0 = \sum_{i=1}^3 c_i v_i \Rightarrow c_1 = c_2 = \dots = c_3$

$$(iii) \Rightarrow (i) \quad \dim V = n$$

$$V = \underbrace{[W_1]}_{i_1} \oplus \dots \oplus [W_n]$$

$$d = (W_1, \dots, W_n) \text{ is a basis of } V$$

$$(4)_\alpha \quad \varphi(W_i) = \lambda_i W_i$$

$$(\varphi(W_i))_\alpha = (\lambda_i W_i)_\alpha = \begin{pmatrix} 0 \\ \lambda_i \\ 0 \end{pmatrix}$$

$$= \lambda_i (W_i)_\alpha = \begin{pmatrix} 0 \\ \lambda_i \\ 0 \end{pmatrix}$$

$x_i \neq x_j \quad m \neq i \neq j$   
 $L_N?$   $\{ \mathbb{T}_1, \dots, \mathbb{T}_j \}$   
 $x_1, \dots, x_j$   
 $f(\mathbb{T}_i) = x_i \mathbb{T}_i$

$\mathbb{T}_1, \dots, \mathbb{T}_j$   $j$  nejmenší index  
 $j$  nejmenší  $\mathbb{T}_j = \sum_{i=1}^{j-1} c_i \mathbb{T}_i, j > 2$   
 $\mathbb{T}_1, \dots, \mathbb{T}_{j-1}$   $j$  LN

$$\sum_{i=1}^n c_i \cdot \psi(\lambda_i) = \sum_{i=1}^n c_i \cdot \psi(\lambda_i)$$

$$\sum_{i=1}^n c_i \cdot \psi(\lambda_i) = \sum_{i=1}^n c_i \cdot \psi(\lambda_i)$$

$$\sum_{i=1}^n c_i \cdot \psi(\lambda_i) = \psi(\lambda_j)$$

$$\sum_{i=1}^n c_i \cdot \psi(\lambda_i) = \sum_{i=1}^n c_i \cdot \psi(\lambda_i) = 0$$

$$\begin{aligned} c_i \cdot \psi(\lambda_i) &= 0 \\ \psi(\lambda_i) &= 0 \\ \psi(\lambda_i) &= 0 \quad \forall i \\ \Rightarrow \lambda_j &= 0 \end{aligned}$$

$$x_i \neq x_j$$

$$x_1, \dots, x_m$$

$$x_1, \dots, x_m \quad \underline{L \cup N} \Rightarrow \text{lozice}$$

$W$  parni vešer písl  $\Rightarrow$   $\forall$  číslu  $x_j$

$$\varphi(w) = x_j \cdot w$$

$$? w \in [x_j]$$

$$\Leftrightarrow W = C x_j$$

$$W = \sum_{i=1}^n c_i v_i$$

nådi lynd om

$$W = c_j v_j$$

SPOREM

$$W \neq c_j v_j \quad \varphi(W - c_j v_j)$$

$\forall j \in \{1, \dots, n\}$

$$W - c_j v_j \neq 0 = \lambda_j W - \lambda_j c_j v_j =$$

$$= \lambda_j (W - c_j v_j) \Rightarrow$$

$$v_1, \dots, W - c_j v_j, \dots, v_n \quad \underline{LN} \Rightarrow \underline{\underline{SPCR}}$$

$\neq \text{Lin. Rom } N_{\lambda_j}:$

$\lambda \in K$  &  $n$ -size matrix  $A$   
 $\Leftrightarrow |A - \lambda I_n| = 0$   
 $A \cdot v = \lambda I_n v, \quad v \in K^n, v \neq 0$   
 $\Rightarrow (A - \lambda I_n)v = 0, \quad v \neq 0$   
 $\Leftrightarrow \det(A - \lambda I_n) = 0$

$$A \approx B \Rightarrow \chi_B(x) = \chi_A(x)$$

$$B = P^{-1} A \cdot P \quad P^{-1}(xI_m)P = xI_m$$

$$\chi_B(x) = |B - xI_m| =$$

$$= |P^{-1}AP - P^{-1}(xI_m)P| =$$

$$= |P^{-1}(A - xI_m)P| = |P^{-1}| \cdot$$

$$|A - xI_m| \cdot |P| = |A - xI_m| = \chi_A(x).$$



Thm 1:  $h(x) = a_n x^n + \dots + a_1 x + a_0$

$a_n \neq 0, n \geq 1$ . Pol

$x_0 \in \mathbb{R}$  is a root of  $h(x) \Leftrightarrow$

$$h(x) = (x - x_0) q(x).$$

Pr.  $\Leftarrow$ :  $h(x_0) = (x_0 - x_0) q(x_0) = 0$

$$\Rightarrow h(x_0) = 0$$

$$\begin{aligned}
 p(x) &= p(x) - p(x_0) = \\
 &= a_n \underbrace{(x^n - x_0^n)} + a_{n-1} \underbrace{(x^{n-1} - x_0^{n-1})} + \\
 &+ \dots + a_1 (x - x_0) = \\
 &\left[ \underbrace{x^r - x_0^r}_{r > 1} = (x - x_0) (x^{r-1} + x^{r-2} x_0 + \dots + x_0^{r-1}) \right] \\
 &= (x - x_0) q(x)
 \end{aligned}$$

Tvrzení:

$$\text{Nechť } h(x) = \cancel{+}x^m + a_{m-1}x^{m-1} + \dots + a_1x + a_0, \quad a_{m-1}, \dots, a_0 \in \mathbb{Z}, m \geq 1.$$

Pokud má  $h(x)$  rac. kořen, pak je to celé číslo, které dělí absd. člen  $a_0$ .

Dk.  $x_0 = \frac{c}{d} \in \mathbb{Q}$ ,  $c, d$  nesoudělné.

$$\cancel{+} \frac{c^m}{d^m} + a_{m-1} \frac{c^{m-1}}{d^{m-1}} + \dots + a_1 \frac{c}{d} + a_0 = 0 \quad /d^m$$

$$\begin{aligned}
 & \underline{+ c^m + a_{m-1} c^{m-1} d + \dots +} \\
 & + a_1 c d^{m-1} + a_0 d^m = 0 \\
 \implies & c \cancel{d^{m-1}} a_0 d^m \implies c \cancel{d^{m-1}} \underline{\underline{a_0}}
 \end{aligned}$$

$$\begin{pmatrix} 5 & 2 & -3 \\ 4 & 5 & -4 \\ 6 & 4 & -4 \end{pmatrix}; \begin{array}{l} 5 \rightarrow 2 \quad -3 \\ 4 \quad 5 \rightarrow -4 \\ 6 \quad 4 \quad -4 \rightarrow \end{array}$$

= de Sam. p. 101 =  $\ominus \lambda^3 + 6\lambda^2 - 11\lambda + 6$

$\pm 1, \pm 2, \pm 3, \pm 6$

$\lambda_1 = 2, \lambda_2 = 3$

HORNFEUROVO

SCHEMA  $\lambda_3 = 1$

	-1	6	-11	6
2	-1	4	-3	0

$h(\lambda) = (\lambda - 2)$

$\cdot (-\lambda^2 + 4\lambda - 3)$

$$\begin{pmatrix} 2 & 0 \\ 0 & 1 \end{pmatrix}^3$$